S S-2268

SECOND YEAR HIGHER SECONDARY
SAY /IMPROVEMENT EXAMINATION, JUNE - 2023

Part — 111 Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes

Maximum : 80 Scores

(Hearing Impaired)

-

General Instructions to Candidates :
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 8 questions from 1 to 10. Each carries 1 score. B8x1=8)
1. An example for Micro Economics
(a) Pricelevel (b) Inflation

(c) National income (d) Priceofapen

2. Correct equation of the budget line
(@ PX,+P,X,>M b) PX,+P,X,=M
© PX,+P,X,<M d) PX,+PX,=M
3. The cost which does not change as the output changes :
(a) Fixed Cost (b) Total Cost

(¢) Variable Cost (d) Average Cost

Change in output .

4 Change in input is called
(a) Total Product (b) TP and MP
(¢) Marginal Product (d) Average Product

5. The minimum profit needed for a firm to exist :

(a) Super-normal Profit (b) Normal profit
(c) Both (a)and (b) (d) None
6. NDPis
(a) GNP - Depreciation (b) GNP + Depreciation
(c) GDP — Depreciation (d) GDP + Depreciation

7. The exchange system which existed before the introduction of money is

8. MPC +MPS = .
(a 1 (b) 0
() -1 (d >0
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1 2)®@3 10 Q19SS ¢21034BEI @3 aBO®BIEN0 8 af) ANOTNM DONVo af) FL®)H>.

1 ¢apod afl@o. B8x1=8)
1. auesiax voUeild: LIANABIM 630) DBIOGEMo

(a) afller deqnoo (b)  aleMea|®alo

(c) e3Ulw aIE)MIM. (d) 80)cainwes allel

2. MY COMIWAS VBIWIV MVACIIB0
(@ PX,+P,X,>M b) P X,+P,X,=M
© P X;+PX,<M d) PX,+P,X,=M

3. 2@3amMoniland 20g@ElMmmMaVGla] 2000 Halelal
(a) audle ealeiar (b) om@OTDO Halelal

(c) afleesd oaleial (d) voEOUE ealelal

D@ |MNOBIOL! 20Qo

4 @pavenpye ainyeeglens a0go DO ERAWAYYSIAMD.
(@) @O DBBa|Mo (b) TP @) MP @)
() aJl@oa® @3ajamo (d) VG @BajIMo

5. 80) 203a]934 @EMIgIn alleiafl@dendad @ryalvdimow alaflas £19&o -
(a) mndlo el (b) avoworemM LI0Es

(c) (a)wp (b)) (d) sl @RLY

6. NDP agyan®’
(a) GNP - coo®@20mo (b) GNP + coo®@momo

(c) GDP - coo®@@0mo (d) GDP + coo®@momo

7. atemo dlelal@aiemaim’ mmis aleimlanle)m alldlaw  avmMIsIe
@RyeM.

8. MPC +MPS =

(@ 1 | (b) O
) -1 d >0
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10.

I1.

12.

13.

14.

15.

16.

17.

Find the public good
(a) Cars (b) Food items
(c) Clothes (d) Roads

Price of one currency in terms of another currency is called

Answer any 4 questions from 11 to 15. Each carries 2 scores.
Find the substitute goods from the goods given :
Pen & Ink, Tea & Coffee, Shoe & Socks, Bricks & Cement

Name the two forces which determines market equilibrium.

Match the following :

A B

(1)  Stock (a) Point of time

(1) Flow (b)  Period of time

Write any two functions of money.

Fill the columns property :

No. Particulars Nature of Budget

(1) | Revenue = Expenditure Balanced

(2) | Revenue > Expenditure

(3) | Revenue > Expenditure

Answer any 4 questions from 16 to 20. Each carries 3 scores.

Mention the properties of Indifference curve.

(a) Distinguish between short period and long period.
(b) Name the short period production function.
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9. 8alo®) AVIWMo HOEBBI) .
(a) 003 (b) eamyaITOHUB
(c) Q@YD (d) cooaw)sxd

10. 20900} S0MIIW@V] MINWeOQS;ERI 80} H0MMwes alleiNldanWa T

af)am) ailglesan).

11 — 15 16088 Ga1d31BSG3 a@o®eslel)e 4 ag)e%)(mﬂm' DOMOo af)))d>.
2 capod aflwo. 4x2=38)
11. @6 Mm@BHWIF)88 AN HSE @3 AFaN)o (IGIAVN0aIM AUGVIHOS DHETBOTD |
CalNW)o AHIW)o, 2 10VW]o EAIaLIW)o, a0 o CAVIATV)0, EDaUSlWI AVlaflad)

12 aflatem] cvmmei@oaiaun aldgnoilanan oane vOBldE]10S Cald)dhud af)P)@)d.

13, Gal®)palS] Gal@Bend:

A B

(1) cwalde |(a) (IC®YD VAW

(i) (@I0a0e | (b) OISOl

14, alem oo aga®s1el) 0aMe WAMAGBUB af)$)®)d:.

15, 208680 Hi®A0W ahdla oo :

mauad ailalosme amag%)qg avjed0lo

(1) | wear= ealeiar avamefleo

(2) | awoal™ ealeial

(3) | awal<ealelal

16 — 20 2160388 G103 @3 aBO®BIELI 4 af)INOIM POMQo af)H)®)d>.
3 ecapod afloeo. 4x3=12)

16, dlqRew @0 ANBOTNOG (ICD{DH@DHUB af)$)®)d>.

17. (a) (OMVIBHIEIVBAN0, BlG2LIMILINSAIe @IAENSS QKBGO Vo af)®)@)d:.

(b)  oauBoRIRaAleR! DER0BM WAMAGTIOG Cald af)$)@)D.
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18. “Large number of buyers and sellers” is a feature of perfect competition. Write any

three other features of perfect competition.

19.  Write the suitable terms for the following :
(a) Calculation of GNP at current price.
(b) Calculation of GNP at constant price.

Nominal GDP
(©) Real GDP

20. (a) Define Balance of Payment.

(b) Name two accounts in Balance of payment.

Answer any 4 questions from 21 to 25. Each carries 4 scores.

21. (a) Define production possibility curve.
(b) Mark the following in the given PPC :

(1)  Under utilisation of resources

(i)  Fuller utilisation of resources

(ii1) Growth of resources

Y

Cotton
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18, “womogo  QEB)MAIOP, Al@BENIAUK”  a)IN®  ahdan  HISATIVE

HEMUOBOTINOG B0} (LUIECD DD @RYEM. a)BANHISAGITVE HEMUIBOBIOZ A" 2N’

(QICDYBHDDHUB af) 9@

19. @969 M@ 0588 aflaI06BUBES GRMIGWITNIW alB36T13UB af))N: |

(a)
(b)

(©)

20. (a)

(b)

@M®AUBH6 D) Allellad GNP 36m @966 @3
audleaileiled GNP &:6mM @969 @3

mommd@ GDP
Lnodon GDP

@RSOI UtlauSo MBI BN .

@RSOI UTlaHS BTG LI ENE BRENDEIBHBIOS Gal®d}hHUd af)$I@))d:.

21 2)®@8 25 219088 €210 08 a@o®B51E1o 4 af)INOTIM DOMDo agf)9}®)d:.
4 capod alleo. (4x4=16)

21. (a)

(b)
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22. F

ill the columns :
Shift in Demand | Shift in Supply Quantity Price
Leftward Leftward Increase, Decrease
or Constant

Rightward Rightward Increase
Leftward Rightward Increase, Decrease

or Constant
Rightward Leftward Increase

23.

24. F

ill the columns :

Trade in goods

Write the four major sectors in an economy.

Current Account

25.

2T

Firm

S-2268

®)

Mark various flows in the diagram.

©

Household




22.

23.

24.

25.

C0B6013UD o) BBTN BB L) :

GaloBM 20Qo (1BOM 20Qo @RI’ ailel
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80) TLVMUB AYQITLOWO LI ML (A IWIM CGAIEIRHBIOS Cal@)hHUd af) 9 1™,
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26.

27.

28.

29.

30.

31.

32.

33.

Answer any 4 questions from 26 to 30. Each carries S scores. (4 x5=20)
(a) Define Budget line.

(b) Draw a Budget line if a consumer has an income of ¥ 500, the price of good X
T 100 and good Y X 50.

(a) What is price elasticity of demand ?
(b) Compare the price elasticity of demand :
Price () | Demand (Kg.)
100 02
150 01

Write the various profit maximisation conditions of a firm under perfect competition.

(a) Write the components of Aggregate demand in a two sector economy.
(b) Distinguish between MPC and MPS.

(c) Write the equation of investment multiplier.

Classify the following in to Revenue receipts and Capital receipts.

Loans, Disinvestment, Income tax, GST, Borrowing, Fines, Fees, Sale of assets,
Corporation tax, Wealth tax

Answer any 2 questions from 31 to 33. Each carries 8 scores. 2 x8=16)

Explain the law of variable proportions with the help of a diagram.

National income of a country can be calculated by using three methods. One is
production method. Explain the other two methods.

Explain the various measures adopted by the Central Bank to control money supply in
an economy.

(Hint : Bank, Rate, )
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26.

27.

28.

29.

30.

31.

32.

33.

26 2)®@3 30 WHOW)BH 21034 @3 aBO®BIENC 4 f)GNOTIM DBV ) 1) d>.

5 capod allweo. (4 x5=20)

(@)  enue3g cosd aldAIalee)d.

(b) 80} DalecoemIANNg Al®)@OMo 500 ©)ald, X agam avowmasiead afler 100
©)a19, Y af)an a0owmaileng aflel S0 0)aldw)e @iy@0o@3 6n1eq Goe Q10 ).

(@) eI GalosMEBIOG aflel heqilao ?
(b) eansmoDIOg aflel DePAB® @Ne)ailSlee)d :

ailel GaloBMo
(0)2101@3) | (Fler1dwonlad)
100 02
150 01

a)BENAGINVE HEMUOBOI® DG 038 WAMIQIBHUd LI alEA0IUS @IRYB)IN
aflaflw @RAITUOBUB af)$)E)d:.

(a) @M  GARIRIRUW @O@O@MBS  B0] qLMUG  AQITLOWINE!  HRIDTV
Gal10BMOBIOZ *RISHEBUD aBOD@E0 af)aN af)¥ )@

(b) MPC, MPS agamlal @mozlensss alymoae ¢)0lae)d:.

() dleatal VIFMHOBTNOG TVAAIID Yo )P IO

0¥ MBIHWVIFBB0!1 0QIMYQIO)A0Mo, HYPallgEd AlO)A0Me af)ABBOM @0
QI EED)EE

ceeMBUB,  alavgadeaiquead, a@aom  dlaydll, GST, @Son1oen®3,
00anmM»HAB, adlav, @RMIHE1s all@la]®, ¢308a]e0euad Mld®l, OOIG3T
QSO

31 2)®@8 33 WHVW)BH GalOBITBUB aBO@BIEN 2 af)ANOINM DOMBo af) )@
8 capod ail@o. 2x8=16)
afleesd @mMa10® Moo B0} 2 I@ET G V00T ANlUdEl Bl

630} EIRONOM cBUTIWAIE)AIM M)A BlGABHSIT BHEMENIBH0. BAN DGBAIBM
dloflaosm. ag ene Bli 303 alluodl Bele9)d.

80] VUG AULAUMOXISL! aleM@EIB0Mo  MIVE@NENMMGIMIV B3 610D,
Dalcouileamam allaflw el a:ud alluoBnoee)d:.
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